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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. €21Hill SlEURL Ulctoll ellol WU, 14
State the quality of Estimator.

AN il 9Bl RUAD

Define 1) Feed 2) Depth of cut 3) Batch Preparation Time 4) Approach.

UL UEL ol caltullRet 5 1)8ls 2) 3w 3ls s2 3)alU YIUUet AMA

4)AY1 U

List factors which are affecting welding cost.
AL HlRe A AUAR sl URlololl ofl ALE] wailcll
State different types of sheet metal operations.
Ale Red sl ot (Al ystR seucn
List different elements of Cost.

512 ol el AEL clecll wRUA

Define depreciation and obsolescence.
YRR A AWoAAY ol cAtvURA 5
State the conditions of contract.

slalse ol 2Rl el

State six objective of budget.

U2 oll 89 Sl Rl

List types of sheet metal joints.

le Nect W82 oll YsiA ofl ALl slatlcl

Define 1) Salvage value 2) Cost Accounting 3) Non Productive cost
4) Book Value.

WL UEL ol caAuAlRd 83 1) AcA% [HA 2)81e usIGEaL 3) [Blot
Beules slke 4) ofs (Bud

Define costing, State at least six advantages of costing. 03
SIRSIL ofl cautvall QL. Aol S8 UL © SlAEL %R 03

OR
List the modern tools and technique of cost reduction. 03
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5122 ssUot oll wlyoells ALl W db UM
Explain various elements of cost in case of Gas welding.
A Aol 512 oll A EL YEL clecll AHSLA

OR
Explain the procedure for estimation of material cost in case of Gas welding.

A Acslol {2 HAZlAA 81 ol ot L Mol Ut dl Ao

Market price of a pattern is Rs.300. Discount offered on market price is nil.
Material cost, labour and overheads are in proportion of 1:2:3. If labour cost
is Rs.60 per pattern then calculate the profit per pattern.

As Veol ofl 01912 (BHd 3 300 B U (328162 aell. Hél3lac
512, A01R 51k A BARSS (Ut 1:2:3 ol YHIQL HL B. %L AGR 512

3. 60 yld Veal dlat Al uld Veel o8l 32l HAOQ.

OR
A lathe machine is purchased at a price of Rs.60,000 has its useful life of 15
years. Its scrap value is Rs.10,000. Calculate the depreciation per year by
sinking fund method. Rate of interest for depreciation fund is 12 percent.

As AU HAlot ofl Wile (B 3 60,000 & GUA( AEs 15 ad
8,doll elour (3Ud 3.10000 B. Ri(5oL 5 Nas ol Agf €2 dl «ll

3YRAUA [BHA 0 clles €2 12% R

Find out the Break-even point analytically(mathematically) from the following
data:

i) Total Sales = Rs.70,000

ii) Variable cost = Rs.49,00,000

iii) Fixed cost = Rs.12,00,000

iv) No. of components = 35,000.

ARAs A A (A A (Aol HIZ Qs Sclet W2 A
SC AAURL 2.70000 , (35 512 3. 12,00,000 ,AZlAUA (BHd 3.

49,00,000, 32 ol vaul 35,000

OR
Explain the cost elements in Gas cutting.

A 5(EaL Slre oll AEL AEL el AH LA

Explain estimation of flash loss and sprue loss in forging.
S0 $A ois2lol W Y afs2lel BELY UHBIA

OR
Explain various forging operations.

@QQu 1oL 51203l AHsA
Explain various pattern allowances.

QlAu Veol NG UHHA

OR
How to calculate turning time in machining shop?
Halo{loL ou w2 2lelor aHa 3cll Al awll astat
A square bar of 25mm sides is to be produced from a round bar of

25mm diameter and 500mm length. Considering only 5% scale loss, calculate
the length of square bar produced.
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25 {1l caaton wal 500 Hl{l ctiois clon pAGSs ok Wl 25
Ml ooy ctoll ARU el olotlall HIZ %1 A A 5% 8l dl ARYU

ollR ol ctioitss decll ual.

OR
Determine time required for preparing M.S. bolt M20 x 3 mm by single point
cutting tool with a cutting speed 8m/min and length of threaded portion is
40mm. Consider No.of cuts required for threading is 8.

M20 x 3 HlHl 8% ol ollee s2loL et ad 8m/min ol s2lot 2dls &l
oloilellHl A B.93s ol ofl ctiows 40 HlHl ual IsTol {2 dlct

52 ofl duAl 8 B, Al W HIE ALLA 1H2A 0.

Estimate the time required to drill 4 holes of 1 cm diameter in a plate. Hole
depth is 2 cm, cutting speed is 15 m/min and feed is 0.01 cm/rev.

As w2 HL 3clor 531 1 AL ol 4 Sl cotctu®. % 8l ol GsLe 2
A, sdlot adls 15 Hl/RAe 1 gls 0.01 A/ et lat A (3ellot

AHA L

OR
A slot of 2 cm deep and 10cm long is to be cut in a M.S. job with a miling
cutter of 8 cm diameter & rotating at 120 rpm. If milling is done in 2 cut and
feed per revolution is 0.05 cm., then calculate the milling time.

g8 A cau aol Hlellol se2 ol As M.S. aled HL 2 A GSL Aa 10
A Aol As WA olottattHl AA B. %L et 120 rpm &l $Al sl
A 52 ofl Awal 2 da gls 0.05AHL/ Jla. st A Hlcdlor unat
NS

Explain cost estimation per pouch for pouch packaging.
WA U5 1R yld WUl (Bl digls yuesal

OR
List various cost elements of an ice plant.

WUBU L2 SlR2 oll YEL YEL clecll UHAsIA

Write down Steps for cost estimation for producing power using diesel
generating set.

B w220t A2 Al R Geuleat ofl (BH A il Rocal il

worflatl el

OR
A thermal power plant produces 80 Mw to satisfy maximum demand. Load
factor of plant is 40%. Estimate power cost per unit for power produced by
this plant. Operating cost Rs. 1.94/kwh.(Assume capital cost as Rs.1800
per kw and depreciation is 12%).

As ANA WaR Wiz HL HedH Hidl a Y3 sal W2 80 Mw ULCR
Beual sRAUMHL WA B, AS ¥522 40% 8. %l VUL 5122 Rs.
1.94/kwh 8l Al A5 Ylle ol Geuleatall WA A 3Uled slke 3.
18—u(d kw el SYURAUA Bl Uy €2 12% UIR

The cost of active wheel washing powder packed in 1 kg. pouch is Rs.26. The
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plastic material for pouch cost Rs.1 per pouch. An operator is packing 500
pouch in a shift of 8 hours. If operator is paid Rs.150 per 8 hours shift.
Estimate pouch packaging cost assuming interest & depreciation. Power cost
per pouch is Rs.0.15.

Asdlal cSlat dlallot was ofl 1kgoll (BUdA 3. 26 B, WEAU HIRall
HElAladell (B 2. 1w weu B, vure 8 scs o As llse H
500 UIGA Us 52 8. Al HIZ2 AuUReR o As 2lse «ll 3. 150
AUAHL WA B, IYRAUL Aal A% €2 12% HURL A UGA Us
scl ofl (BHd uld weAU ALl War slke yld wéx 3. 0.15 8.
Explain sales budget.

AUARL K2 UMl

Explain full contract and schedule contract.

sct Slglse ua sy slgise uHAtcl

List various types of tenders and explain any one.

2052 ol (Al ysiA ofl el olatcll 518 Ul As AHALA
Write a short note on e-tendering.

8 =253l UR g5l ol cull
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